

## ON THE NORMS OF CIRCULANT MATRICES WITH THE GENERALIZED FIBONACCI AND LUCAS NUMBERS

MUSTAFA BAHŞI<sup>1</sup>

**ABSTRACT.** In this paper, firstly we define  $n \times n$  circulant matrices  $U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$ ,  $V = \text{Circ}(V_0, \dots, V_{n-1})$ ,  $T = \text{Circ}(T_0, \dots, T_{n-1})$  and  $S = \text{Circ}(S_0, \dots, S_{n-1})$ , where  $\{U_n\}$  and  $\{V_n\}$  are generalized Fibonacci and Lucas types second order linear recurrences,  $\{T_n\}$  and  $\{S_n\}$  are Tribonacci sequences with different initial conditions. After we study spectral norms of these matrices and their Hadamard and Kronecker product.

**Keywords:** circulant matrix, generalized Fibonacci number, generalized Lucas number, matrix norm.

**AMS Subject Classification:** 11B37, 11B39, 15A36, 15A60.

### 1. INTRODUCTION

For  $n > 0$ , the well known *Fibonacci sequence*  $\{F_n\}_{n=1}^{\infty}$  is defined by

$$F_{n+1} = F_n + F_{n-1},$$

where  $F_0 = 0$ ,  $F_1 = 1$  and the *Lucas sequence*  $\{L_n\}_{n=1}^{\infty}$  is defined by

$$L_{n+1} = L_n + L_{n-1},$$

where  $L_0 = 2$  and  $L_1 = 1$ .

The Fibonacci and Lucas sequences can be generalized as follows: Let  $p$  and  $q$  be positive integer. The second order linear recurrences of the Fibonacci and Lucas types are defined by the following equations:

$$U_{n+1} = pU_n + qU_{n-1},$$

$$V_{n+1} = pV_n + qV_{n-1},$$

where  $U_0 = 0$ ,  $U_1 = 1$  and  $V_0 = 2$ ,  $V_1 = p$ . It is clear that  $V_n = pU_n + 2qU_{n-1}$ .

When  $p = q = 1$ ,  $U_n = F_n$  ( $F_n$  denotes the  $n$ th Fibonacci number). When  $p = 2$ ,  $q = 1$ ,  $U_n = P_n$  ( $P_n$  denotes the  $n$ th Pell number). When  $p = q = 1$ ,  $V_n = L_n$  ( $L_n$  denotes the  $n$ th Lucas number).

Let  $\alpha$  and  $\beta$  be the roots of the characteristic equation  $x^2 - px - q = 0$ . Then the sequences  $\{U_n\}$  and  $\{V_n\}$  have the following Binet's formulas

$$U_n = A_1\alpha^n + B_1\beta^n, \tag{1}$$

$$V_n = A_2\alpha^n + B_2\beta^n, \tag{2}$$

where

$$\alpha = \frac{p + \sqrt{p^2 + 4q}}{2}, \quad \beta = \frac{p - \sqrt{p^2 + 4q}}{2},$$

---

<sup>1</sup>Aksaray University, Education Faculty, Aksaray, Turkey

e-mail: mhvbahsi@yahoo.com

*Manuscript received March 2014.*

$$A_1 = \frac{1}{\sqrt{p^2 + 4q}}, \quad B_1 = \frac{-1}{\sqrt{p^2 + 4q}},$$

$$A_2 = \frac{p - 2\beta}{\sqrt{p^2 + 4q}}, \quad B_2 = \frac{2\alpha - p}{\sqrt{p^2 + 4q}}.$$

The third order linear recurrences of the Fibonacci and Lucas types are defined by the following equations:

$$T_n = T_{n-1} + T_{n-2} + T_{n-3},$$

$$S_n = S_{n-1} + S_{n-2} + S_{n-3},$$

where  $T_0 = 0, T_1 = T_2 = 1$  and  $S_0 = 3, S_1 = 1, S_2 = 3$ . Also, the sequences  $\{T_n\}$  and  $\{S_n\}$  are well known *Tribonacci sequences* with different initial conditions. It is clear that  $S_n = T_n + 2T_{n-1} + 3T_{n-2}$ .

Let  $\gamma_1, \gamma_2$  and  $\gamma_3$  be the roots of the characteristic equation  $x^3 - x^2 - x - 1 = 0$ . Then the sequences  $\{T_n\}$  and  $\{S_n\}$  have the following Binet's formulas

$$T_n = \frac{\gamma_1^{n+1}}{(\gamma_1 - \gamma_2)(\gamma_1 - \gamma_3)} + \frac{\gamma_2^{n+1}}{(\gamma_2 - \gamma_1)(\gamma_2 - \gamma_3)} + \frac{\gamma_3^{n+1}}{(\gamma_3 - \gamma_1)(\gamma_3 - \gamma_2)},$$

$$S_n = \gamma_1^n + \gamma_2^n + \gamma_3^n.$$

Some of the terms of the sequences  $\{U_n\}, \{V_n\}, \{T_n\}$  and  $\{S_n\}$  are the following:

$n$	0	1	2	3	4	5	6	7	8	9	10
$U_n$ $p=2, q=3$	0	1	2	7	20	61	182	547	1640	4921	14762
$V_n$ $p=2, q=3$	2	2	10	26	82	242	730	2186	6562	19682	59050
$T_n$	0	1	1	2	4	7	13	24	44	81	149
$S_n$	3	1	3	7	11	21	39	71	131	241	443

Some authors have studied second order or third order Fibonacci numbers and their certain generalizations [11 – 13, 17 – 19]. In [11], the authors have derived generalized Binet's formula and combinatorial representation of the generalized order  $k$ - Fibonacci numbers. For  $p = A$  and  $q = 1$ , in [12], the author has given the sums of squares of the terms of  $\{U_n\}$  as follows:

$$\sum_{i=0}^n U_i^2 = \frac{U_n U_{n+1}}{A}.$$

In [13], the author has given the sums of the terms of Tribonacci sequence  $\{T_n\}$  as follows:

$$\sum_{i=0}^n T_i = \frac{T_{n+2} + T_n - 1}{2}. \tag{3}$$

Similarly, by the induction method on  $n$ , we have

$$\sum_{i=0}^n S_i = \frac{S_{n+2} + S_n}{2}. \tag{4}$$

An  $n \times n$  matrix  $C$  is called a *circulant matrix* if it is of the form

$$C = \begin{bmatrix} c_0 & c_1 & c_2 & \cdots & c_{n-2} & c_{n-1} \\ c_{n-1} & c_0 & c_1 & \cdots & c_{n-3} & c_{n-2} \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ c_2 & c_3 & c_4 & \cdots & c_0 & c_1 \\ c_1 & c_2 & c_3 & \cdots & c_{n-1} & c_0 \end{bmatrix}.$$

For each  $i, j = 1, 2, \dots, n$  and  $k = 0, 1, 2, \dots, n - 1$ , all the elements  $(i, j)$  such that  $j - i \equiv k \pmod{n}$  have the same value  $c_k$ ; these elements form the so-called  $k$ th stripe of  $C$ . Obviously, a circulant matrix is determined by its first row (or column). That is  $C = \text{Circ}(c_0, c_1, \dots, c_{n-1})$ . The circulant matrices play important role in numerical analysis, because they can be quickly solved using the discrete Fourier transform.

Circulant matrices are especially tractable class of matrices since their inverses, conjugate transposes, sums and products also circulant. Moreover a circulant matrix is a normal matrix [5].

Many authors have studied circulant matrices [1, 3, 5, 6, 10, 26]. Hladnik [6] has given a formula for Schur norm of a block circulant matrix with circulant blocks. Karner et al. [10] have worked on spectral decompositions and singular value decompositions of four types of real circulant matrices. Bose and Mitra [3] have derived the limiting spectral distribution of a particular variant of a circulant random matrix. Atkin et al. [1] have studied the powers of a circulant. Zhang et al. [26] have worked on the minimal polynomials and inverses of a block circulant matrices over a field.

Matrix norms play important role in perturbation analysis, condition and error estimates [15, 16, 25]. Recently, there have been several papers on the norms of special circulant matrices [2, 4, 9, 14, 20 – 24]. Solak [21, 22] has defined  $A = (a_{ij})$  and  $B = (b_{ij})$  as  $n \times n$  circulant matrices, where  $a_{ij} \equiv F_{(\text{mod}(j-i, n))}$  and  $b_{ij} \equiv L_{(\text{mod}(j-i, n))}$ , then he has given some bounds for the spectral and Euclidean norms of the matrices  $A$  and  $B$ . Civciv and Türkmen [4] have constructed the circulant matrix with the Lucas number and presented lower and upper bounds for the Euclidean and spectral norms of this matrix. Bahsi and Solak [2] have defined  $C_{a,r} = (c_{ij})$  as  $n \times n$  circulant matrix where  $c_{ij} \equiv a + (j - i \pmod{n})r$ ,  $a$  and  $r$  are real numbers, then they have investigated eigenvalues, determinant, spectral norm, Euclidean norm of this matrix. Shen and Cen [20] have given upper and lower bounds for the spectral norms of  $r$ -circulant matrices in the forms  $A = C_r(F_0, F_1, \dots, F_{n-1})$ ,  $B = C_r(L_0, L_1, \dots, L_{n-1})$ . Solak and Bozkurt [23] have defined almost circulant matrix as follows:  $C_n = \text{Circ}\left(a, 1, \frac{1}{2}, \dots, \frac{1}{n-1}\right)$ , where  $a \in \mathbb{R}$  ( $\mathbb{R}$  denotes the set of real numbers) and  $a \neq 0$ . After they have established upper bounds for the  $l_p$  norms of the matrix  $C_n$ . Ipek [9] have obtained the equality for the Solak's work in [21]. Kocer [14] has given some properties of the modified Pell, Jacobsthal and Jacobsthal-Lucas numbers, then she has defined the circulant, negacyclic and semicirculant matrices with these numbers and she has investigated the norms, eigenvalues and determinants of these matrices.

In this paper, let  $U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$ ,  $V = \text{Circ}(V_0, V_1, \dots, V_{n-1})$ ,  $T = \text{Circ}(T_0, T_1, \dots, T_{n-1})$  and  $S = \text{Circ}(S_0, S_1, \dots, S_{n-1})$  be circulant matrices. Firstly we give equalities for the spectral norms of these matrices. After we obtain equalities and inequalities related to spectral norms of Hadamard and Kronecker product of these matrices.

Now we start with some preliminaries related to our study.

**Definition 1.1.** Let  $A = (a_{ij})$  be any  $m \times n$  matrix. The spectral norm of the matrix  $A$  is

$$\|A\|_2 = \sqrt{\max_i \lambda_i(A^H A)},$$

where  $\lambda_i(A^H A)$  are eigenvalues of  $A^H A$  and  $A^H$  is conjugate transpose of matrix  $A$ .

**Definition 1.2.** Let  $A = (a_{ij})$  and  $B = (b_{ij})$  be  $m \times n$  matrices. Then their Hadamard product  $A \circ B$  is defined

$$A \circ B = [a_{ij}b_{ij}].$$

**Definition 1.3.** Let  $A = (a_{ij})$  and  $B = (b_{ij})$  be  $m \times n$  and  $p \times r$  matrices, respectively. Then their Kronecker product  $A \otimes B$  is defined

$$A \otimes B = [a_{ij}B].$$

**Lemma 1.1.** [8] Let  $A$  and  $B$  be  $m \times n$  matrices. Then we have

$$\|A \circ B\|_2 \leq \|A\|_2 \|B\|_2.$$

**Lemma 1.2.** [8] Let  $A$  and  $B$  be  $m \times n$  matrices. Then we have

$$\|A \otimes B\|_2 = \|A\|_2 \|B\|_2.$$

**Lemma 1.3.** [7] Let  $A$  be any  $n \times n$  matrix with eigenvalues  $\lambda_1, \lambda_2, \dots, \lambda_n$ . Then,  $A$  is a normal matrix if and only if the eigenvalues of  $A^H A$  are  $|\lambda_1|^2, |\lambda_2|^2, \dots, |\lambda_n|^2$ .

**Lemma 1.4.** [10] Let  $C = \text{Circ}(c_0, c_1, \dots, c_{n-1})$  be  $n \times n$  general circulant matrix. Then

$$\lambda_m = \sum_{k=0}^{n-1} c_k w^{-mk}, \quad (5)$$

where  $\lambda_j$  are eigenvalues of  $C$  and  $w$  is the  $n$ th primitive root of unity.

Let  $w$  be  $w = e^{\frac{2\pi i}{n}}$ . Then  $w$  is a  $n$ th primitive root of unity. Then the equality (5) has the form

$$\lambda_m = \sum_{k=0}^{n-1} c_k e^{\frac{-2\pi i m k}{n}}. \quad (6)$$

## 2. MAIN RESULTS

**Theorem 2.1.** The spectral norm of matrix  $U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$  is

$$\|U\|_2 = \frac{1 - U_n - qU_{n-1}}{1 - p - q}.$$

*Proof.* Since  $U$  is a circulant matrix, from (6) its eigenvalues are of the form

$$\lambda_m = \sum_{k=0}^{n-1} U_k e^{\frac{-2\pi i m k}{n}}.$$

Then for  $m = 0$ , using the Binet's formula for the sequence  $\{U_n\}$ , we have

$$\begin{aligned} \lambda_0 &= \sum_{k=0}^{n-1} U_k = \sum_{k=0}^{n-1} (A_1 \alpha^k + B_1 \beta^k) = \sum_{k=0}^{n-1} A_1 \alpha^k + \sum_{k=0}^{n-1} B_1 \beta^k = \\ &= \frac{A_1 \alpha^n - A_1}{\alpha - 1} + \frac{B_1 \beta^n - B_1}{\beta - 1} = \\ &= \frac{\alpha \beta (A_1 \alpha^{n-1} + B_1 \beta^{n-1}) - (A_1 \alpha^n + B_1 \beta^n) - (A_1 \beta + B_1 \alpha) + A_1 + B_1}{\alpha \beta - (\alpha + \beta) + 1}. \end{aligned}$$

Since,  $\alpha + \beta = p$ ,  $\alpha\beta = -q$ ,  $A_1 + B_1 = 0$  and  $A_1\beta + B_1\alpha = -1$ , we have

$$\lambda_0 = \sum_{k=0}^{n-1} U_k = \frac{1 - U_n - qU_{n-1}}{1 - p - q}. \quad (7)$$

On the other hand, we have

$$|\lambda_m|_{1 \leq m \leq n-1} = \left| \sum_{k=0}^{n-1} U_k e^{\frac{-2\pi imk}{n}} \right| \leq \sum_{k=0}^{n-1} |U_k| \left| e^{\frac{-2\pi imk}{n}} \right| \leq \sum_{k=0}^{n-1} |U_k| = \sum_{k=0}^{n-1} U_k. \quad (8)$$

Using the Lemma 1.3 and the fact that a circulant matrix is a normal, we have

$$\|U\|_2 = \max_{0 \leq m \leq n-1} |\lambda_m| = \max \left( |\lambda_0|, \max_{1 \leq m \leq n-1} |\lambda_m| \right). \quad (9)$$

Finally, from (7), (8) and (9), we have

$$\|U\|_2 = \frac{1 - U_n - qU_{n-1}}{1 - p - q}.$$

Thus the proof is completed.  $\square$

**Theorem 2.2.** *The spectral norm of matrix  $V = \text{Circ}(V_0, V_1, \dots, V_{n-1})$  is*

$$\|V\|_2 = \frac{2 - p - V_n - qV_{n-1}}{1 - p - q}.$$

*Proof.* Using the Binet's formula for the sequence  $\{V_n\}$ , we have

$$\begin{aligned} \sum_{k=0}^{n-1} V_k &= \sum_{k=0}^{n-1} (A_2\alpha^k + B_2\beta^k) = \sum_{k=0}^{n-1} A_2\alpha^k + \sum_{k=0}^{n-1} B_2\beta^k = \\ &= \frac{A_2\alpha^n - A_2}{\alpha - 1} + \frac{B_2\beta^n - B_2}{\beta - 1} = \\ &= \frac{\alpha\beta(A_2\alpha^{n-1} + B_2\beta^{n-1}) - (A_2\alpha^n + B_2\beta^n) - (A_2\beta + B_2\alpha) + A_2 + B_2}{\alpha\beta - (\alpha + \beta) + 1}. \end{aligned}$$

Since,  $\alpha + \beta = p$ ,  $\alpha\beta = -q$ ,  $A_2 + B_2 = 2$  and  $A_2\beta + B_2\alpha = p$ , we have

$$\sum_{k=0}^{n-1} V_k = \frac{2 - p - V_n - qV_{n-1}}{1 - p - q}. \quad (10)$$

Since  $V$  is a circulant matrix, from (6) its eigenvalues are of the form

$$\lambda_m_{0 \leq m \leq n-1} = \sum_{k=0}^{n-1} V_k e^{\frac{-2\pi imk}{n}}.$$

Then for  $m = 0$ , using (10) we have

$$\lambda_0 = \sum_{k=0}^{n-1} V_k = \frac{2 - p - V_n - qV_{n-1}}{1 - p - q}. \quad (11)$$

From Lemma 1.3 and the fact that the matrix  $V$  is a normal matrix, we have

$$\|V\|_2 = \max_{0 \leq m \leq n-1} |\lambda_m| = \max \left( |\lambda_0|, \max_{1 \leq m \leq n-1} |\lambda_m| \right). \quad (12)$$

Since

$$|\lambda_m|_{1 \leq m \leq n-1} = \left| \sum_{k=0}^{n-1} V_k e^{\frac{-2\pi imk}{n}} \right| \leq \sum_{k=0}^{n-1} |V_k| \left| e^{\frac{-2\pi imk}{n}} \right| \leq \sum_{k=0}^{n-1} |V_k| = \sum_{k=0}^{n-1} V_k, \quad (13)$$

from (11), (12) and (13), we have

$$\|V\|_2 = \frac{2 - p - V_n - qV_{n-1}}{1 - p - q}.$$

Then the proof is completed.  $\square$

When  $p = q = 1$ ,  $U_n = F_n$  ( $F_n$  denotes the  $n$ th Fibonacci number) and  $V_n = L_n$  ( $L_n$  denotes the  $n$ th Lucas number). Then by Theorems 2.1 and 2.2, we have

$$\|U\|_2 = F_{n+1} - 1 \quad \text{and} \quad \|V\|_2 = L_{n+1} - 1.$$

In fact, these equalities are the spectral norms of circulant matrix with the Fibonacci and Lucas numbers.

**Corollary 2.1.** *For  $n \geq 2$ , the spectral norms of  $V_{n \times n} = V = \text{Circ}(V_0, V_1, \dots, V_{n-1})$  and  $U_{n \times n} = U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$  have the following equality*

$$\|V_{n \times n}\|_2 = p \|U_{n \times n}\|_2 + 2q \|U_{(n-1) \times (n-1)}\|_2 + 2,$$

where  $U_{(n-1) \times (n-1)} = \text{Circ}(U_0, U_1, \dots, U_{n-2})$ .

*Proof.* Since  $V_n = pU_n + 2qU_{n-1}$ , the proof is trivial from Theorems 2.1 and 2.2.  $\square$

**Corollary 2.2.** *The spectral norm of the Hadamard product of  $U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$  and  $V = \text{Circ}(V_0, V_1, \dots, V_{n-1})$  has the following inequality*

$$\|U \circ V\|_2 \leq \frac{(1 - U_n - qU_{n-1})(2 - p - V_n - qV_{n-1})}{(1 - p - q)^2}.$$

*Proof.* Since  $\|U \circ V\|_2 \leq \|U\|_2 \|V\|_2$ , the proof is trivial from Theorems 2.1 and 2.2.  $\square$

**Corollary 2.3.** *The spectral norm of the Kronecker product of  $U = \text{Circ}(U_0, U_1, \dots, U_{n-1})$  and  $V = \text{Circ}(V_0, V_1, \dots, V_{n-1})$  has the following equality*

$$\|U \otimes V\|_2 = \frac{(1 - U_n - qU_{n-1})(2 - p - V_n - qV_{n-1})}{(1 - p - q)^2}.$$

*Proof.* Since  $\|U \otimes V\|_2 = \|U\|_2 \|V\|_2$ , the proof is trivial from Theorems 2.1 and 2.2.  $\square$

**Theorem 2.3.** *The spectral norm of matrix  $T = \text{Circ}(T_0, T_1, \dots, T_{n-1})$  is*

$$\|T\|_2 = \frac{T_{n+1} + T_{n-1} - 1}{2}.$$

*Proof.* Since  $T$  is a circulant matrix, from (6) its eigenvalues are of the form

$$\lambda_m = \sum_{k=0}^{n-1} T_k e^{-\frac{2\pi i m k}{n}}.$$

Then for  $m = 0$ , using (3) we have

$$\lambda_0 = \sum_{k=0}^{n-1} T_k = \frac{T_{n+1} + T_{n-1} - 1}{2}. \tag{14}$$

On the other hand, we have

$$|\lambda_m| = \left| \sum_{k=0}^{n-1} T_k e^{-\frac{2\pi i m k}{n}} \right| \leq \sum_{k=0}^{n-1} |T_k| \left| e^{-\frac{2\pi i m k}{n}} \right| \leq \sum_{k=0}^{n-1} |T_k| = \sum_{k=0}^{n-1} T_k. \tag{15}$$

Using Lemma 1.3 and the fact that the matrix  $T$  is a normal matrix, we have

$$\|T\|_2 = \max_{0 \leq m \leq n-1} |\lambda_m| = \max \left( |\lambda_0|, \max_{1 \leq m \leq n-1} |\lambda_m| \right). \quad (16)$$

From (14), (15) and (16), we have

$$\|T\|_2 = \frac{T_{n+1} + T_{n-1} - 1}{2}.$$

Therefore the proof is completed.  $\square$

**Theorem 2.4.** *The spectral norm of matrix  $S = \text{Circ}(S_0, S_1, \dots, S_{n-1})$  is*

$$\|S\|_2 = \frac{S_{n+1} + S_{n-1}}{2}.$$

*Proof.* Since  $S$  is a circulant matrix, from (6) its eigenvalues are of the form

$$\lambda_m = \sum_{k=0}^{n-1} S_k e^{-\frac{2\pi i m k}{n}}.$$

Then for  $m = 0$ , using (4) we have

$$\lambda_0 = \sum_{k=0}^{n-1} S_k = \frac{S_{n+1} + S_{n-1}}{2}. \quad (17)$$

From Lemma 1.3 and the fact that the matrix  $S$  is a normal matrix, we have

$$\|S\|_2 = \max_{0 \leq m \leq n-1} |\lambda_m| = \max \left( |\lambda_0|, \max_{1 \leq m \leq n-1} |\lambda_m| \right). \quad (18)$$

Since

$$|\lambda_m| = \left| \sum_{k=0}^{n-1} S_k e^{-\frac{2\pi i m k}{n}} \right| \leq \sum_{k=0}^{n-1} |S_k| \left| e^{-\frac{2\pi i m k}{n}} \right| \leq \sum_{k=0}^{n-1} |S_k| = \sum_{k=0}^{n-1} S_k, \quad (19)$$

from (17), (18) and (19), we have

$$\|S\|_2 = \frac{S_{n+1} + S_{n-1}}{2}.$$

Thus the proof is completed.  $\square$

**Corollary 2.4.** *For  $n \geq 3$ , the spectral norms of  $T_{n \times n} = T = \text{Circ}(T_0, T_1, \dots, T_{n-1})$  and  $S_{n \times n} = S = \text{Circ}(S_0, S_1, \dots, S_{n-1})$  have the following equality*

$$\|S_{n \times n}\|_2 = \|T_{n \times n}\|_2 + 2 \|T_{(n-1) \times (n-1)}\|_2 + 3 \|T_{(n-2) \times (n-2)}\|_2 + 3,$$

where  $T_{(n-1) \times (n-1)} = \text{Circ}(T_0, T_1, \dots, T_{n-2})$  and  $T_{(n-2) \times (n-2)} = \text{Circ}(T_0, T_1, \dots, T_{n-3})$ .

*Proof.* Since  $S_n = T_n + 2T_{n-1} + 3T_{n-2}$ , the proof is trivial from Theorems 2.3 and 2.4.  $\square$

**Corollary 2.5.** *The spectral norm of the Hadamard product of  $T = \text{Circ}(T_0, T_1, \dots, T_{n-1})$  and  $S = \text{Circ}(S_0, S_1, \dots, S_{n-1})$  has the following inequality*

$$\|T \circ S\|_2 \leq \frac{(T_{n+1} + T_{n-1} - 1)(S_{n+1} + S_{n-1})}{4}.$$

*Proof.* Since  $\|T \circ S\|_2 \leq \|T\|_2 \|S\|_2$ , the proof is trivial from Theorems 2.3 and 2.4.  $\square$

**Corollary 2.6.** *The spectral norm of the Kronecker product of  $T = \text{Circ}(T_0, T_1, \dots, T_{n-1})$  and  $S = \text{Circ}(S_0, S_1, \dots, S_{n-1})$  has the following equality*

$$\|T \otimes S\|_2 = \frac{(T_{n+1} + T_{n-1} - 1)(S_{n+1} + S_{n-1})}{4}.$$

*Proof.* Since  $\|T \otimes S\|_2 = \|T\|_2 \|S\|_2$ , the proof is trivial from Theorems 2.3 and 2.4.  $\square$

## REFERENCES

- [1] Atkin, A.O.L., Boros, E., Cechlarova, K.U., Peled, N., (1997), Powers of circulants in bottleneck algebra, *Linear Algebra and Its Appl.*, 258, pp.137-148.
- [2] Bahsi, M., Solak, S., (2010), On the circulant matrices with arithmetic sequence, *Int. J. Cont. Math. Sciences*, 5(25), pp.1213 – 1222.
- [3] Bose, A., Mitra, J., (2002), Limiting spectral distribution of a special circulant, *Statistics & Prob. Let.*, 60, pp.111-120.
- [4] Cinciv, H., Trkmen, R., (2008), Notes on norms of circulant matrices with Lucas number, *Int. Journal for Inf. and System Sci.*, 4(1), pp.142-147.
- [5] Davis, P.J., (1979), *Circulant Matrices*, Wiley, New York, Chichester, Brisbane.
- [6] Hladnik, M., (1999), Schur norms of bicirculant matrices, *Linear Algebra and Its Appl.*, 286, pp.261-272.
- [7] Horn, R.A., Johnson, C.R., (1985), *Matrix Analysis*, Cambridge University Press, Cambridge.
- [8] Horn, R.A., Johnson, C.R., (1991), *Topics in Matrix Analysis*, Cambridge University Press, Cambridge.
- [9] Ipek, A., (2011), On the spectral norms of circulant matrices with classical Fibonacci and Lucas numbers entries, *Appl. Math. Comput.*, 217(12), pp.6011-6012.
- [10] Karner, H., Schneid, J., Ueberhuber, C.W., (2003), Spectral decomposition of real circulant matrices, *Linear Algebra and Its Appl.*, 367, pp.301-311.
- [11] Kiliç, E., Tasci, D., (2006), On the generalized order  $k$  -Fibonacci and Lucas numbers, *Rocky Mountain J. Math.*, 36(6), pp.1915-1926.
- [12] Kiliç, E., (2008), Sums of the squares of terms  $(u_n)$ , *Indian Acad. Sci. (Math. Sci.)*, 118(1), pp.27–41.
- [13] Kiliç, E., (2008), Tribonacci sequences with certain indices and their sums, *Ars Combinatoria*, 86, pp.13-22.
- [14] Kocer, E.G., (2007), Circulant, negacyclic and semicirculant matrices with the modified Pell, Jacobsthal and Jacobsthal-Lucas numbers, *Hacettepe Journal of Math. and Sta.*, 36(2), pp.133–142.
- [15] Konstantinov, M., Petkov, P., (2008), Perturbation methods in linear algebra and control (survey), *Appl. Comput. Math.*, 7(2), pp.141-161.
- [16] Konstantinov, M., Petkov, P., Christof, N., (2010), New results in perturbation analysis of matrix algebraic equations, *Appl. Comput. Math.*, 9(2), pp.153-161.
- [17] Lin, P.-Y., (1988), De Moivre-Type identities for the Tribonacci numbers, *The Fibonacci Quarterly*, 26(2), pp.131-134.
- [18] Pethe, S., (1988), Some identities for Tribonacci sequences, *The Fibonacci Quarterly*, 26(2), pp.144-151.
- [19] Shannon, A.G., Horadam, A.F., (1972), Some Properties of Third-Order Recurrence Relations, *The Fibonacci Quarterly*, 10(2), pp.135-145.
- [20] Shen, S., Cen, J., (2010), On the bounds for the norms of  $r$ - Circulant Matrices with the Fibonacci and Lucas Numbers, *Appl. Math. Comput.*, 216, pp.2891-2897.
- [21] Solak, S., (2005), On the Norms of Circulant Matrices with the Fibonacci and Lucas Numbers, *Appl. Math. Comput.*, 160, pp.125-132.
- [22] Solak, S., (2005), Erratum to “on the norms of circulant matrices with the Fibonacci and Lucas numbers, *Appl. Math. Comput.*, 160, pp.125-132, (2007), *Appl. Math. Comput.*, 190, pp.1855-1856.
- [23] Solak, S., Bozkurt, D., (2002), Some bounds on  $l_p$  matrix and  $l_p$  operator norms of almost circulant, Cauchy-Toeplitz and Cauchy-Hankel matrices, *Math. Comp. Appl. Int. J.*, 7(3), pp.211-218.
- [24] Yalçiner, A., (2008), Spectral norms of some special circulant matrices, *Int. J. Contemp. Math. Sciences*, 3(35), pp.1733 – 1738.
- [25] Yonchev, A., Konstantinow, M., Petkov, P., (2009), Perturbation analysis of the continuous LMI based bounded output energy problem, *Appl. Comput. Math.*, 8(2), pp.163-169.
- [26] Zhang, S., Jiang, Z., Liu, S., (2002), An application of the grbner basis in computation for the minimal polynomials and inverses of block circulant matrices, *Linear Algebra and Its Appl.*, 347, pp.101-114.





**Mustafa Bahşi** was born in 1980 in Turkey. He graduated in 2001 from Education Faculty of Selçuk University. He got his Ph.D. degree in 2010 at the same university. He has worked at the Aksaray University as an Assistant Professor since 2011.